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BHEUMmT = GXEY MRS BYIERE Y 2 O
(¢ 75)
GXfFET = EREEERER&Y (=
(075 EE)
GXHF T = ERERER&Y 2 0
(pTHEME)
GXftFE T = EREEERER&Y 1A
(975 G >4)
7309 #FET = ERXEEERKLY 2 O
(¢ 75)
BFEATESERBIIN = EEEEREERLY -
MEMHRT = 0.720
(¢ 80) 0.720 0.720 m

(BE# - 775
B RR-IT = 4.180 4.180 m




XA 72 A INGHHETER

& GXo7omm B OE 4,00 m
Z 1] 1= RER | VBRI (U1 & A| vgm | Wy
&S| BUE BUIMI|#EOY
1 2 (m) (=) (m (4) (#)
1 GX - GX
2. 487 0.792 0. 721 2 0 0 0
s Y& FDGX ¢ 75mm (SFEE) M BEARH
|:|E‘|'
1 =K 0. 721 2 0 0 0

24
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T Fé T 21l H ¥ | HAAL EP &t
+ T — e A1 BHO. 20m’ n’ 4.5 4.5
HRT
ELE L 1:3 m’ 1.3 1.3
WA BHO. 20m° m 2.8 2.8
ety T +#  BHO.20| @ 4.5 4.5
S A4 F—F L — FNRATHL ¢ 1700
DAV Ay - L7 U—h s - 18N m’ 0.57 0.57
e 47 m’ 1.89 1.89
Tty JERE RC-40, t=10cm | mn? 1.89 1.9
Al _EHRgE L WA W) m 0.57 0.57
HZ ALy MEfHa ) )~ m’ 0.57 0.57
A7 v=MEEI R T A WEXROHMELE] m 0. 790 0.790
(A# ¢ 1700) | AS g 1 m 1. 731 1.731
NS ¢ = m
7 m 2.521 2.521
779 L m’ 1.28 1.28
T a7 ) —Fh
e RC-40. t=20cm| m° 2.27 2.27
IAF=7"V-MEETL | ¢ 1700 m 1. 00 1.00
Yk 1. t=2. Tmm m
AT TS (54F—FL—1) t=1~3mm t 0.2
S A4 F—FL— b | t=2. Tmm m 3. 00 3.0
(7% - ¢1700) |t=3.2mm m
t=4. Omm m
t=4. 5mm m
EIM - ST L |ERE - Wk m’ 6. 00 6.0
SiA4 BIR t 1. 20 1.2
Mkt t 0. 49 0.5
Wt Hpk T RC-40, t=15cm | m? 1.30 1.3
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¢ 17007 A F—7 L — FXTHL THERE
fESlD T A7 7 M S t=15cm 10. 64 10.6
A R RBE AP TAT7 VM EE R t=15cm 6. 83 6.8
X 0. 34 0.34
oy % TAT 7 Mg 0.34 0.34
A HiE RM-30 t=12cm 6. 83 6.8
KE HLE F#As  t=3cm 6. 83 6.8
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T il 3271-2-1 <2 AR— /LR 7 LP ¢ 1700 e
Zd P B ) =X O ¥
B L fe Al= 2.160 X 3.160 = 6.826
RRZNIE A2= /4 X 1.7002 = 2.270
BAN 2y )= MM R A3= /4 X 2.300°2 = 4.155
1 il BHO. 20m” 6.826 X ( 0.550 - 0.050 ) = 3.41
4.155 X ( 0.800 - 0.550) = 1. 04
3 4. 45 4.5
NV WEA - kMt 1.590 - 0.800 = 0.790 | 0.790 m
;ﬁg{ié? ATy e+ 1.731 = L7310 | 1.731 m
R = 0.000 | 0.000 m
i 2.521
(HRHI - 8) | AT 4.45 + 2.270 X ( 2.521 - ) = 10.17
H BR|E/LH L
W& 2.270 X ( 2.000 - 0.180 ) = 4.13
YERR JE L A /14X 1.4602 X 0.150 = -0.25
[ELEE A /14X 1.4002 X 1.670 =  -2.57
2 1.31 1.3 n
e
SEHUERHLR L 1.321 - 0.700 = 0.621
W& 2.270 X 0.621 = 1.41
Pebr [ELEE A /14X 1.4002 X 0.621 = -0.96
AN 2R L 0.700 - 0.400 = 0.300
R L& 4.155 X 0.300 = 1.25
PERR RHRE Ax/4x ( 1.400 2 + 0.8202 ) / 2
X 0.300 = -0.31
BTHME L& 0.400 - 0.150 = 0.250
R L& 6.826 X  0.250 = 1.71
Pebr I A /14X 1.1402 X 0.250 =  -0.26
3 2.84 2.8 m’
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Z4 PR B % H 2V # &=
& A Sy 10. 17 10.2 o’
ARANENZI R
a2V ) ) =} ock=18N - AJ ( 4.155 — 2.270) X 0.300 0. 566 0.57 n’
g} e ¥y HH 7 X 2.000 X 0.300 1.885 1.89 n’
Wer t=10cm 4.155 - 2.270 1. 885 1.89 p?
72 v hL 0.09 X 7 X (1.700 + 0.09 )
X 2.521 1.276 1.28 o’
# it et t=15cm 2.270 2.27
54F=7" v} ¢ 1700mm H= 1. 000 1. 000 1.00 m
it & T I L= m
FA4F=7" V=) t=2. Tmm 3.00 m
¢ 1700 t=3. 2mm m
t=4. Omm m
t=4. bmm m
AT Ty el 7 X 1.700 X 1.000 5.341 p?
SEH)E8 (PRP200) n/4 X (0.270 +0.100 )2 x 1 0.108 p?
= 5. 449
t=2. Tmm 5.449 X 36.1 kg/m’ 0. 197
F4+=7"V=b  t=1~3mm 7t 0.197 0.20 t
BT - MR IERE T
wmOL K 700m2LL R 2.000 X 3.000 6. 000 6.00 m’
Fi Y% 200kg/m2 X 6.000 1. 200 1.20 t
% Kr| =47 H-200X200 55kg/m X 2.160 X 2 0.238 0.24 t
Mizz
zrikn [-200 X 80 24.6kg/m X ( 3.160 X 2+ 2.000 X 2) 0. 254 0.25 t
ikt gt 0.49 t
Wefr JemE T | RC-40., t=15cm 2.160 X 0.300 X 2 1.296 1.30




A, % L 2V b iy
As t=15cm 2.160 X 2 4+ 3.160 X 2 = 10.640 | 10.64
As t=15cm 2.160 X 3.160 = 6.826 6. 83
6.826 X 0.05 = 0.341 0.34
0.341 X 2.35 = 0.801 0. 80
Jilsies RM-30 t=12cm 2.160 X 3.160 =  6.826 6. 83
eI HBAs t=3cm 2.160 X 3.160 =  6.826 6. 83




FAT-TV-EE

B D= =
e t= =
A & L=mrx170

EwF# N=5.341+0.157

1.700 m

2.7 mm

5341 m

oo H8YSAF—JL—MERE

P-10 1 ®

P-8 3 M

P-6 0 ®
1.0mEYRILMERE

34 EvF

N=(2+6+0)x4+34x2 = 100 &K
1.0mEYSAF—TL—rEE
RILE 100 x 0.137 = 14
P-10 2 x 260 = 52
P-8 6 x 21.1 = 127
P-6 0 x 162 = 0
& &t 193 kg/m
1.0m2EYS4F+—JL—rEs
193 +~ 5341 = 36.1 kg/m2

30
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SAF—TL—rEE(BRK) ke/H
R E 2.7 3.2 40 45 5.3 6.0 7.0
P-10 26.0 30.9 38.4 433 50.9 57.6 67.8
P-8 21.1 25.0 31.1 35.1 41.2 46.7 55.0
P-6 16.2 19.2 23.8 26.9 31.6 35.8 42.3
ALk | 0.137 0.137 0.144 0.144 0.158 0.158 0.158
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BReflxiktE® T (12mEsf)

BSMARIE L= 25 m

(RRERE 2E%)

R6. T /KB AR EHRE SR

HE Bl e 0.95 m

T E 97.50 m

EHI L= 181.80 m®
BERT (ERIERIOSHEER) 34.40 m®
HRLTE 136.10 m?’

mERE J& ¢ 200 mm
N IR RE 0.28 m®
GEEXN=ES 1.70

ERFAmM#K 12.00 m
rSwoOL—iRE 4.8~4. 9t &

/Ny (0.28m3) D1HHYIEHIL £ D= 5900 m%H
Nk (028m3) DI LYIERLTE D= 8500 m%H

1B YIRRT 8 (2 /\ER[E)

D= 33.00 ms/H
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H % & H (R/Avi2m)
mA| T @ #oE = RAM®) HRER
(x1.7)
EEHRIR 100.00 = 24 A 42 m/H
(2 2) 12.00 + 42 m/H 0.29 =}
XRIFET 100.00 + 08 A 125 m/ B
(B8 #2) 12.00 + 125 m/H 0.1 | 082 | 1.4 &
afTBB|| XRIKET 100.00 + 04 A 250 m/H
(81 ) 12.00 + 25000 m/H 0.05 H
12 Al 181.80 + 9750 m X 1200 m 2238 m®
22.38 + 5900 m%H 0.38 =}
+ 2T +iEAI 0.29 H 0108 + 005H + 038H 0.82 H
BEBET 34.40 + 9750 m X 1200 m 4.23 s
(B A) 4.23 + 8500 m%H 0.05 B
(BRIE1E %)
b 1T 2 34.40 + 9750 m x 1200 m 423 m° 033 |[ 06 B
4.23 + (830 m¥B x 2 &) 0.06 =i
EmEI 10.00 + 023 A 44 m/H
12.00 + 4  m/H 0.27
MER+EME| 006 H 0.27 H 0.33
BRI 136.10 + 9750 m x 1200 m 1675 m°
(B A) 16.75 + 8500 m%H 0.2 =i 025 |[ 04 B
ciT 8
(SRR
136.10 + 9750 m x 1200 m 1675 m°
16.75 + (3300 m¥H x 2 &) 0.25 =}
EE2MERR 100.00 + 09 A 112 m/H
(& %) 12.00 + 11200 m/H 0.11 |
diT# | XRIKET 100.00 + 03 A 334 m/H 020 [ 0.3 H
(BE #2) 12.00 + 334 m/H 0.04 =}
XRIBET 100.00 + 04 A 250 m/H
(8] ) 12.00 + 250 m/H 0.05 =]
T8 T 0.11 H 004H + 005H 0.20 H
X afTiE TEIT+EA &T 5,
b 17#8 SR (2o ) E2BEAT 5,
c 1712 BRIEHR (2 ) E2RERT S,
BHIEALEREEEDOREVESERIRT 5,
d 1718 bITIEA R T L CHRET %,




a 178
(BT +IEHD)

b 1718
(EBR+EHMR)

c 1778

(BR (HEHEA))

d 1778
(XBHEET)
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I ¥ =
14
0
!
|
i
i
i
i
i
i
i
i
: 0.6
i
O O
|
i
i
i
i
i
i
i
|
| 0.
¢ o
i
i
i
i
i
[
|
03 |
i
o— 90
TEBEOEREHUEREE 14 + 06 + 04 = 24 H :
1
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BReflxiktE® T (12mEsf)

BEMAIRIE L= 20 m GUREEE1ER)

HE Bl e 0.95 m

E & 1.90 m

EE L= 3.20 m®
BERT (ERIERIOSENER) 0.70 m®
HRLTE 2.30 m?’

mERE J& ¢ 200 mm
N IR RE 0.28 m®

PR/ N =S 1.70

ERFAmM#K 12.00 m
rSwoOL—iRE 4.8~4. 9t &
NP7 (0.28m3) D1E HYIEHIT £ D= 5900 m%H
N\wHPRD(028m3) D1EHHYIERTE D= 8500 m%/H

1B YIRRT 8 (2 /\ER[E)
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B #% & &
mA| T @ #oE = RAM®) HRER
(x1.7)
EE2MEXR 10000 m + 20 A = 50 m/H
(2 3) 1200 m + 50 m/H = 024 |
XRIBET 10000 m + 04 A = 250 m/H
(f& #2) 1200 m + 250 m/H = 005 5| 065 1.1 B
afTBB|| XRIKET 10000 m + 02 A = 500 m/H
CIES 1200 m < 50000 m/H = 0.02 =]
1 Hi 320 m* - 190 m x 1200 m = 2021 m°
2021 m’ = 5900 m%/A = 034 =
T BT +HiEA 0248 + 005H + 002H + 034H = 065 =]
WEBT 070 m® = 190 m X 1200 m = 442 s
(B A) 442 m*® + 8500 m‘/H = 005 =i
(BRE1E%)
b 17 2 070 m’ = 190 m x 1200 m = 442 m?® 034 |[ 06 R
442 m’ = (330 m¥A x 2 &) = 007 H
EmEI 1000 m + 023 A = 44 m/H
1200 m + 44  m/H = 027
WEBE+EME| 007H + 027H = 034
BRI 230 m® = 190 m x 1200 m = 1453 m°
(BEtIZA) 1453 m® + 8500 m®/B = 0.17 =] 044 |07 H
ciT 8
(SRR
230 m® - 190 m x 1200 m = 1453 m°
1453 m° + (3300 m*/H x 1 &) = 044 =i
EEHRR 10000 m =+ 09 A = 112 m/H
(%) 1200 m + 11200 m/H = __ 011 |
diTR || XRIB/ET 10000 m = 03 A = 334 m/H 017 )| 03 H
(f& #E) 1200 m + 334 m/H = 004 |
XERIMET 10000 m + 02 A = 500 m/H
CIES 1200 m <+ 500 m/H = 0.02 =]
T B2 T 011H + 004H + 002H = 017 H
¥ afTiE TEBEIHEA &9 5,
b 17%8 BRI (B ) Z2B AT 5,
c 17%2 EIEM () B2 AT 5.

d 1758

BHIRALEEERDOREVZIZRRT B,
bITEMNETLTHIRET .




a 1T%8
(BT +EHD

b 175
(BEH+EHR)

c 1778

(R (HEHEA))

d 1778
(XBHEET)

o)
I ¥ =
1.1
O— —O
!
| |
| i
I |
| |
I |
| i 0.6
!
| S 0
| |
I |
|
| i
|
| i
!
: ; 0.7
0 )
| i
!
| |
I :
I |
| 03 |
| :
o——oO0
| |
| |
| |
: TREHERBHEREER) 11 + 06 + 07 = 24 H |
I
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BEEMXIRTIELI [L=2.5m ] ¥HER 38
% R e ik~ % Hi = B #%E

BEMXIREAT L=2. 5m L=  97.50 = m 97.50
EEMXIREIRT L=2. 5m L= 97.50 = m 97.50
?gﬁ%s‘zﬁl XIRI2ER L=  97.50 = m 97.50
HET KE
BESRIERET FIRT2ER L=  97.50 = m 97.50
BEL KE =
EsflXiiaHES L=2.5m W= 2.50 X 2 x 0.0592 x 12.00 | t 3.6

(12.0m% yv) w=59. 2kg/m2
5 A A 3 L=12. Om n= 97.50 / 12.0 = 8.10 | [ 9
gtABE % L=2. 5m 9m| x 248 = 21.6 5| 22
SRR AR A - fiRH 3.6 t 3.6
TEERT EEL (7L | L= 97.50

(BESEXR) 5 70 ~ 80mm HEARHK =  22.0 =]

=115~ 130mm 22 x 6 PN X 2E% =  264.0 [x-B| 264.0
£ 4000mm

KEYR—+ F7ILI & 6.0 K X 2 BB X 22 A |&-B| 264.0
KEFEIRY T 15~19Yy bl AR 22.0 AH &-H 22.0
KEZAEZAH =] 22
XEFEEREEAH =] 22




BEEHfXRTIELI [L=2.0m ] #HER 39
£ 1 RAR~T i it = B #=
FEMRREAT L=2. Om L= 1.90 = m 1.90
ZEMEFBIIKRT L=2. Om L= 1.90 = m 1.90
BESRXAT RIS L= 1.90 = m 1.90
RET KE
BRESRZRIT FETIE L= 1.90 = m 1.90
W=T KER
ESHXREHES |L=2.0m W= 2. 00 X 2 x 0.0592 x 1.90 t 0.4
(30.0m% yY) w=59. 2kg/m2
LA EE L=12. Om n=  1.90 / 12.0 = 016 | @ 0.2
gtABR &% L=2. Om 0.2 X 2.4 = 0.5 S| 1
SEIRMRA - R 0.4 t 0.4
TEEXRET L (7L I8 L= 1.90
(EEEREXR) Mg 70~ 80mm HRE% = 0.5 =] = 1 =|
=115~ 130mm 1 x 6 A X 2E% = 12.0 |&-A8 12.0
£ 4000mm
KEYR— k 7L 8 6.0 &K X 2 B X 1 A |[#x-H 12
KEFEHRY 15~19y pl “ER 1.0 H &-A 1




HFARBREUETE TR SF7EE (F#B)) 40

E %X I & &5t
Fyy7IED &Fhr 7 7
® 150
e oW OEEl m3 12.1 12.1
B W 1B REERR) m3 6.0 6.0
oW B RGRAL) m3
B + o o m3 12.1 12.1
w OE ® m3 3.0 3.00
SHEER m
B e m?2
=}
B[
RS m3
SRR m
i
B e m2
=
g m3
YU iE R m
C |EMEUETL m3
(o]
n
K |EWREIEL m3
kR
RIRN m3
TKFvyT & 7 7
® 150
BHEMREHRT (EEE) &30 Ji 7
3MmK i
R EMHRT (EEE) AT
3mLl ESmEiE
Bt ERMEZT (EEE) &R
S5mElE12m=%kiE
BRfAEHKRT (EEE) AT
12milE
X EET I (¢ 200- ¢ 150) AT 7 7
90° XEEL
30°~60° BEME (P 150) & 7 7
JLEZHO%EE(D 150) A 26 26
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PRP ¢ 200%#E T &£ 5%

1
(B3, &)
SHTEE FHET%GE

T i B 1SR =1ED KR Hi =3
ANFLIEEE B m 175 175
EmMHRT m 16.6 16.6
AZEE X 4 4
e AJEIEMETF & 1 1
E —
ﬁ MRZ O #F &
# VUZ T B
2.0 m
g‘ 25 m
A 30 m
%
I 3.5 m
4.0 m
2.0 m
gn: % 25 m 175 175
N =
o & 3.0 m
L %
R 3.5 m
4.0 m
1E%(2.0) m 175 175
b3 2E%(3.0) m
(£
T 2E%(3.5) m
3E%(4.0) m
Ajj 2t m3
ﬁ 0.10BH 2t | m?
i 0.20BH 2t m?®
u
? 0.20BH 4t | m° 30.9 30.9
0.35BH 4t | m?®
" ANH m?®
T B
T % 0.10BH m?®
T’f 0.20BH m? 6.2 6.2
0.35BH m?
AH m?®
pi::}
= 0.10BH m?°
; 0.20BH m? 226 22.6
0.35BH m?°




PRP ¢ 200mm EMiXT E=MHEiR) § - Em% - (B, &)
SHTEE mEHREET
==l N & iz 2E + 8 T _
iz A =] ﬁ " - o BA= 02 m
B |5 | 5 % 24K AR L2 T L2
2 1L . f:u‘_ :rﬁt. Ji- a] M vV " " o + = - + Beilxik R
o | 1|2 |8 | - S I I = | = | 0| W B
1% M| 212 | ¢ i rlE|l®|>|2|% gl | &l n | = B L2=L-L’
E g lwm|m|m|2|wu 3 | E | & ;ﬁ %Tk ﬁ 5|8 ' i 75 % 75 100 X 100
H H H ':: H i $ = $ H=D+H| £ 20m | 25m | 3.0m | 3.5m | 4.0m X 3.2 X 3.2
£ =) 53 & L1= ik H'= (18) | (23) | (2.8) | (3.3) | (38) | (2.0) | (3.0) | (3.5) | (4.0)
L 0.75| 0.90| 1.20| 0.30[ 0.90 L-3|L1/4] 200 [ 200 | 200 150 [ 150 | k5% | D 0.306] L’ B 1E% | 2E% | 2B | 3EX
1% No. m X | X[ X | HE | X | E|E|HE m m A | @E#|BE|BE|[X]|EA] X [El3i1 m m m m m m m m m m m m m m
3305-1 4.1 1.69 0.20BH
3306 | 3306-1 175 1.0 0.900| 16.6] 4.0 1 149 | 159] 1.90 175 175 175
175
H 175 16.6] 40 1 175 175 35.0
ARNE 35.0




PRP ¢ 200mm EMEET EEMER) F

_iI_

TH6EE mETHREME

MR EEI (V) s o ‘ BEBET R I SHEE R YT T .
I SHEEIRE LT ?E &
A h z | B 1= AEX(SEE+ L EIREE) BhEHE w | &
2 R N N B I - L2+BH(H-T) BF  01m BERE L3=12x2 =\
5 & fo| Al | 1B % 51%0.206 & 0.1 m i %E
£ =5 iE 2 | &l . _ : LE: : : 3l R
= | iR JSy5ik(BH) F= T |E-RE e | mE | s . _ o
G=L2*Bx (& L +ENFZE+ET)-F H=L2*B*H- (F+A+G) SRR (m)
= TR 57 +59(0T) CHL2| As(1 )| As(2/8) Co |shmL SRR inasni
=1 AA | 010 | 020 | 020 | 035 |C= HHEE+ FEREEm) 1N\wHRD(BH) N\yDikJ(BH) 02~ 03~ (035~ |04~ E=
Bea L2 B H T 2t 2t 2t 4t 4 | 0033 | 0.15 | 035 003 | o010 | AA | 010 | 020 | 035 | A | 010 | 020 | 0.35 0.2 03[ 0.35 0.4 #iEEl | LoxB
5 m m m m m? m? m? m? m? m? m? m? m? m?® m? m? m? m? m? m?® m? m? m?® m m m m m NJ m
3305-1 0.20BH
3306 | 3306-1 175 095 1.91] 005 30.9 05 2.4 6.2 226 35.0 MDT| 166
175 30.9 6.2 226 35.0 16.6
; BH . _ . .
(AR R RIER A 01 | 02 ] 02 | 035
DT 2t 2t 2t 4t 4t
mi&/NEHm) 16.6




4
(BJR, &)

1 B #HII Y h— i
SHIEE EEHESE
# H g3z Bf1 ¥ = 5 &
1B IVR—ILEBRET [E03i1 1
T AT m 1.697 1.697 =1
AR
JERR & 1
gE4A 70y H=600 &
H=900 &
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